129 modelc_1 (TMSAt-
NyyL3mWkkbPSHGIE;CQfkSCIUnrVCA)

October 27, 2020

Let vl_modelc_1 : t=-0 be given. Let m2_finseq_1 : t==1=>0 be given. Let
kb_numbers : ¢ be given. Let v7_modelc_1 : 1=>0 be given. Let kl1_funct_1 :
t=>t=1 be given. Let np__1: ¢ be given. Let np__4 : ¢ be given. Let vl_relat_1:
t=0 be given. Let vl_funct_1 : t=0 be given. Let vl_finseq-1 : t=-0 be
given. Let k7_finseq_1l : 1=1=>1 be given. Let k9_finseq_1 : 1= be given.
Let v2_zxreal 0 : t=>0 be given. Let m2_subset_1 : t=>1=>1=>0 be given. Let
k1_numbers : ¢ be given. Let m1_subset_1 : t=1=-0 be given. Let m1_finseq_1 :
t=>1t=0 be given. Let k5_finseq_1 : t=-¢ be given. Let k8_finseq_1 : t=1=1=>1
be given. Let k4_ordinall : ¢ be given. Let vl_xzboole 0 : t=-0 be given.
Let k12_finseq_1 : t=>1=1 be given. Let v3_ordinall : =0 be given. Let
kl_zfmisc_l : 1= begiven. Let k2_z fmisc_1 : t=>1=-1 be given. Let k11_modelc_1 :
(==t be given. Assume the following.

VX0.VX1.((vlrelat-l XDA((v1_funct-l X1)A(vl_finseq-1 (1)
X1))=(kl_funct_l (k7_finseq-1 (k9_finseq-1 X0) X1) np__1 = X0)

Assume the following.

VX0.((vlorelat-1 X0)A((v1_funct-l X0)A(vl_finseq-1 X0)))=
(VX1.((vlrelat-l X1)A((vl-funct-l X1)A(vl_finseq-1
X1))=(VX2.((vlrelat.1 X2)A((vl_funct-l X2)A(vl_finseq-1
X2)))=(k7_finseq_1 (k7_finseq-1 X0 X1) X2 = k7_finseq-1 X0 (k7_finseq_1
X1 X2))))
(2)
Assume the following.

((v2_zzreal 0 np__4)A(m2_subset_1 np_4 k1_numbers kb_numbers))A 3)
((m1_subset_1 np__4 k5_numbers)\(ml_subset_1 np_4 k1_numbers))

Assume the following.
VX0.VX1.(m2_finseq-1 X1 X0)<(ml_finseq-1 X1 X0) (4)
Assume the following.

VX0.k9_finseq_1 X0 = k5_finseqg_1 X0 (5)



Assume the following.

VX0.VX1VX2.((ml_finseqg-1 X1 X0)A(ml_finseq-1
X2 X0))=(k8_finseq_l X0 X1 X2 = k7_finseq.1 X1 X2)

Assume the following.
k5_numbers = kd_ordinall

Assume the following.

VX0.VX1.((—vlxboole.0 X0)A(ml_subset.1 X1 X0))=
(k12_finseq_1 X0 X1 = k5_finseq_1 X1)

Assume the following.
(=wvl_zboole 0 k4_ordinall)A(v3_ordinall kd_ordinall)

Assume the following.

VX0.VX1.(m2_finseq-1 X1 X0)=((v1_funct-1 X1)A(

(vi_finseq-1 X1)A(ml_subset.1 X1 (kl_zfmisc.1 (k2_zfmisc-1 kb_numbers

X0)))))

Assume the following.

VX0.¥X1.(ml_finseq-1 X1 X0)=((vlrelat_1 X1)A(
(vi_funct_1 X1)A(vl_finseg-1 X1)))

Assume the following.

VXO0.(vlrelat-1 (k9-finseq-1 X0))A(vl_funct-1 (k9-finseq-1
X0))

Assume the following.

VX0VX1VX2.((ml_finseqg-1 X1 X0)A(ml_finseq-1
X2 X0))=(m2_finseq_1 (k8_finseq_1 X0 X1 X2) X0)

Assume the following.

VX0.VX1.((-vlxboole.0 X0)A(ml_subset_.1 X1 X0))=
(m2_finseq-1 (k12_finseq-1 X0 X1) X0)

Assume the following.

VXO0.((vl-modele-1 X0)A(m2_finseq-1 X0 k5_numbers))=(

(v7_modelc-1 X0)<(3X1.((vl-modelec.l X1)A(m2_finseq_-1

X1 k5_numbers))A(IX2.((v1_modelc_ 1 X2)A(m2_finseq_1
X2 k5 numbers))A(X0 = kl1l_modelc_1 X1 X2))))

(10)

(15)



Assume the following.

VX0.(m2_finseq-1 X0 k5_numbers)=(VX1.(m2_finseq_1
X1 k5_numbers)=(k11l_modelc_.1 X0 X1 = k8_finseq_1 k5_numbers (k8_finseq_1
kE5_numbers (k12_finseq-1 kb_numbers np_4) X0) X1))
(16)

Theorem 1

VX0.((vl-modelec.1 X0)A(m2_finseq-1 X0 k5_numbers))=(
(v7-modelc_1 X0)=(k1_funct_1 X0 np__1 =np_4))



